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QUESTION 1

A user has created a work order against asset ABC. A technician determines that asset ABC is faulty and it needs to be
replaced. The technician replaces asset ABC at the operating location with asset XYZ from a repair location.

What happens after the swap?

A. Asset locations have been swapped.

B. Asset identifiers have been swapped.

C. Inventory locations of the assets have been swapped.

D. The faulty asset ABC status at the operating location gets updated to OBSOLETE.

Correct Answer: A

QUESTION 2

A workflow process has been revised and the new revision made active.

What happens to records that had already been routed into that workflow process before this was done?
A. They continue running in the earlier revision.

B. They are removed from workflow and must be restarted manually.

C. They switch to running in the new revision as that is the only active revision.

D. They are removed from workflow and are started in the new revision by a cron task.

Correct Answer: D

QUESTION 3

A work order has the Originating Record field populated.

What Relationship would be seen for the work order listed on the Related Records tab?
A. PARENT

B. RELATED

C. FOLLOWUP

D. ORIGINATOR

Correct Answer: B

C2010-555 PDF Dumps | C2010-555 VCE Dumps | C2010-555 Study Guide 2/3


https://www.pass2lead.com/c2010-555.html
https://www.pass2lead.com/c2010-555.html
https://www.pass2lead.com/c2010-555.html

P 2L d https://lwww.pass2lead.com/c2010-555.html
aSS ea 2024 Latest pass2lead C2010-555 PDF and VCE dumps Download

—— https://Pass2Lead.com

QUESTION 4

A planner has a high priority work order which is going to consume an item with limited availability and wants to ensure
that the item is dedicated to this work order. What type of reservation should the planner use?

A. SOFT

B. HARD

C. APSOFT

D. BACKORDER
Correct Answer: B

Reference: https://www-01.ibm.com/support/docview.wss?uid=swg21683654

QUESTION 5

A company wishes to make a system the Primary System. Where can this be accomplished?
A. Within the Systems application

B. From the Classifications application

C. Using the Manage Systems actions in the Locations application

D. Using the Associate Systems with Location action in the Locations applications

Correct Answer: C

Reference: https://www-01.ibm.com/support/docview.wss?uid=swg21663686
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